ouleill QS aliwl

x=+/130
9cm
7 cm
x =48
5.5 cm 2.7cm

CAY ol e bl Gl 02 bos 121 @)

. ) 3 ..
x =50
39 em x =40 14 cm
48 cm
24 cm
70 —x 74 cm 19 cm 15 cm
T o x =117
9cm
o
5cm
—
13 cm
o> lgio

1/2

33.4

B e



nalaia o2 ke

lLJ'Jl_"\LT =il a =io { ».‘

ouleill QS aliwl

é).:...ﬁ- :J,g £ e \._.-'J-Bw\[ _5_9'1.:*;«:J1 _;‘ll.-ti.‘:ﬁ E....::L..; J}]G jl.;-? ®
36.4

s e = . - 2 e .
dorle o Nl mbaw (2 25m 3 ke S 35 52 w5 520 Lo @)
180 m 3,0l 5425 0 And s 5 &31 ol 36 2 5,25 Blns)

25m
181.7
180 m
A Qs

2 2 2

5cm B 5°+12% = (AB)
25 + 144 = (AB)’

. 12 cm (AB)2:169

AB=+/169 =13 cm

ﬂjY}? N - S - -
walaia 25 L el s Ol o b Uasddl ]

2 lgio

5 AB Hlael : Uadll
(AB)? = (12)>— (5)> =119, AB = 10.9 : zaall

6 cm

._;_,l:;wll_._’k:”\:.lﬁ__sixjjia_llia_-i 229 ®

14

12 cm

V5 Rt il oo OF bpn Gl s e S Slows ALy 201 (D)
TR 2 £o. EI e = z T
.&aﬁ;le%xblebcﬂl.Q:FALJJHsJAL‘}baJMYluLLu‘

2/2



